TB 11-2300-457-30

DEPARTMENT OF THE ARMY TECHNICAL

BULLETIN

INSTALLATION OF

ELECTRICAL

TRANSIENT

SUPPRESSOR MX-7778/GRC OR MX-7778A/GRC

IN VEHICLES M41, M42A1, M48A2, M48A3,

M56, M60, M60A1, M88, M106, M125, M113,

M113A1, M132, M132A1, M1114A1, M116, M163,

M551, M557, M578, M728, M48A2 (HULL), M60A1 (HULL)

Headquarters, Department of the Army, Washington, DC
12 July 1976

REPORTING OF ERRORS
You can help improve thie bulletin by calling attention to errors and by recom-
mending improvements and stating your reasons for the recommendations. Y our
letter or DA Form 2028 (Recommended Changes to Publications and Blank Forms)
should be mailed direct to Commander, US Army Electronics Command, Attn:
DRSEL-MA-Q, Fort Monmouth, N.J. 07703. A reply will be furnished direct to you.

PUrpose o
Instpaﬂatic_)n kit parts ...
[lustration list o
Ingtallation drawings

1. Purpose. This technical bulletin provides in-
stallation drawings for Electrical Transient Sup-
pressor MX-7778/GRC and MX-7778A/GRC in the
following tracked vehicles:

a. Tank, Combat, Full-Tracked, 76MM Gun,
M41

b. Gun, Self-Propelled, Full-Tracked, Twin,
M42A1

c. Tank, Combat, Full. Tracked, 90OMM Gun,
M48A2

d. Tank, Combat, Full-Tracked, 90OMM Gun,
M48A3

e. Gun, 90 MM, self-propelled, M56

f. Tank, Combat. Full-Tracked, 105MM Gun
M60

g. Tank, Combat, Full-Tracked, 105MM Gun
MG60A1

h. Recovery Vehicle, Full-Tracked, Medium, M88

i. Carrier, Mortor, 107 MM, M106, M125

j. Carrier, Personnel, Armored, M113, M113A

k. Flame Thrower, Self-Propelled, Full-Tracked
M132, M132A1

L Carrier, Personnel, Armored, MI14A1

m. Carrier, Cargo, Amphibious M116

n. Gun, AA, Artillery, Self-Propelled, 20MM
M163



0. Armored Reconnaissance, Airborne Assault
Vehicle, M551

p. Carrier, Command Post, M577

g. Recovery Vehicle, Full-Tracked, Light, Ar-
mored, M578

r. Combat Engineer Vehicle, Self-propelled, Full-
Tracked, M728

s. Armored Vehicle, Launcher, Bridge M48A2
(Hull)

t. Armored Vehicle, Launcher, Bridge M60A1
(Hull)
2. Installation Kit Parts. The parts which comprise
the installation kit for MX-7778/GRC are listed and
illustrated on[Eigure 1.22. The installation kit parts
for MX-7778A/GRC are listed and illustrated on
The installation instructions for the
vehicles listed in_paragraph 3] below are on the
illustrations, through 1-21.
3. lllustration List. The following is a list of
vehicles and applicable figure numbers.

Figure No. Vehicle
I:%I and O M577
(1210 and O MG60A1

Figure No. Vehicle

and O

PO R PR PN RN N PR PR Py A

M46A2, M48A3
M551
M42A1

ML

M113, M113A1, M132, M132A1
MI06M125
M113A1 M132A1
M113, M132

M88

M60

M56

M114A1

M114A1

M116

MB0AL (Hull)
M578

M48A2 (Hull)
M728

[1-4 0 and O

M163

4. Installation Drawings. The following drawings
contain the instructions for installing the kit parts
for either the MX-7778/GRC or MX-7778A/GRC
installation kits.



)
M TURN OFF VEHRICLE MASTER NOTES (SHEET 1)
SWITCH. l REMOVE EXISTING POWER CABLE FROM 24 vDC
POWER RECEPTACLE AND ATTACH TO ELBOW
CONNECTOR/S INSTALL CABLE ASSEMBLY SPECIAL

PURPOSE CX~-10613/G TO POWER RECEPTACLE
[ LOCATED ON SIDE OF SUPPRESSOR, CONNECT
! THE OTHER END TO THE 24 vDC POWER RECEPTACLE

| REAR WALL i

! ; 2———CLAMP CABLE ASSEMBLIES TO EXISTING SPACERS

? i 55 014 .5 HOLES OR HOLES.

f ! 7 3 FOR MX-7778/GRC MOUNTING HOLES SEE DETAIL A
|

4 FOR MX-7778A/GRC MOUNTING HOLES SEE DETAIL B
~—ELECTRICAL TRANSIENT SUPPRESSOR MX~7778/GRCIFIG1=22).
OR MX-7778(AVGRC (Fi623).

\

\ ROTATE ELBOW CONNECTORS 90° TO
POSITION AS SHOWN.
2% 570 TacTicaL

= RADIOS
(P/QO RADIO SET)

DETAIL A

ROADSIDE WALL
DRILLING FOR MX-7778/GRC

RADIO SHELF

(PO VEHICLE } CABLE ASSEMBLY
seEF6—+-22 ~ S.P Cx-10613/6(12 FT LG
SEEFGT+23 ‘4» TO 24 VOC. POWER

RECEPTACLE(NOTES 182)

WASHER, |ET'I% (- m»:c:‘l:»—/l

NuT.nEx.'%-aa(s-REO'D)

CIRCUIT BREAKER
3 , RESET
SCREW HEX nn,%-w.‘ {1-REQ'D)

2N - ngl"o'em MOUNT (4-REQ'D)
o — _']\ € ’ UNO
#, l REAR WALL l ‘
O,
%o "
L L oia. sHOLES

ROADSIDE
J\ WALL

\(’ Rl - i
X WL ,
S \\'f/ s DETAIL 8
25 DRILLING FOR MX-7778-A/GRC ELITAOO!

Figure 1-1(M . Installation instructions for Electrical Transient Suppressor MX-7778/GRC, OR MX-
7778A/GRC in Command Post Carrier M577, for FM radio sets.




2 CLAMP CABLE ASSEMBLIES TO EXISTING

—— ROADSIOE WALL

CABLE ASS'Y S.P. CX-10613/G

(12FT.LG.) TO 24 vOC POWER
TO TACTICAL RADIOS RECEPTACLE (NOTES 18 2)
(P/Q RADIO SET)

N

ROTATE ELBOW <%
CONNECTORS .,
80° TO POSITION WY _
AS SHOWN ~ -3

ELECTRICAL
TRANSIENT
SUPPRESSOR

Mx-7778/GRC
OR MX-7T78(AVGRC

ROADSIDE WwALL

FRONT wAaLL

CIRCUIT BREAKER B/ YEMICLE

P/ VEMI 1]
AL (P/O VEMICLE) ngom
WASHER, IET,S/16{ || REQ'D) > HoLES
NUT, HEX, 5/16-18( 9 REQ'D) DETAIL C

SCREW,HEX HD.,3/16-18x 34
(I REQ'D)

RESILIENT MOUNT (4 REQ'D)
EL GROUND LEAD

DRILLING FOR MX-7778/GRC

ROADSIDE WALL

RADIO SHELF
(P/0 VEMICLE)

w’\AQ
(SHEET 2) "TNOTES:
REMOVE EXISTING POWER CABLE FROM 24VDC POWER
RECEPTACLE AND ATTACH TO ELBOW CONNECTOR/S.
INSTALL. CABLE ASSEMBLY SPECIAL PURPOSE
CX-10613/G TO POWER RECEPTACLE LOCATED ON
SIDE OF SUPPRESSOR,CONNECT THE OTHER END
TO 24 VDC POWER RECEPTACLE.

SPACERS OR HOLES.

FOR MX-7778/GRC MOUNTING HOLES SEE DETAIL C.

DETAIL D
DRILLING FOR MX-7778A/GRC

ELITACOQR

FOR MX-7778A/GRC MOUNTING HOLES SEE OETAIL D.

Figure 1-10 . Installation instructions for Electrical Transient &ppressor MX-7778/GRC, or MX-
7778A/GRC in Command Post Carrier M577, for FM radio sets.



NOTE  (SMEET 1}
|=—— LOCATE SUPPRESSOR MOUNTING asSSy

S5C-C-6907t3 AS SHOWN_ AN ~RIGHT TURRET wALL

WELD IN PLACE SEE ﬁ?? : ;
ATTACH PLATE $C-630714 / . /—/
TO SUPPRESSOR MOUNTING 4SS’y / — -
THEN ATTACH RESILIENT MOUNTS / / 7 ’r\
USING HARDWARE AS SHOWN /. /'/ o
CAUTION TURN OFF VEMICLE Yl '

—_— T

MASTER SWITCH /J
// :
f(r';;/ /z%/ﬁ_ — <

T~ MOUNT. RESILIENT
| (4 REQD)

SEARCHLIGHT CONTROL BOX— /  (sEE NoTE 1)

SUPPRESSOR MTG ASSY SC-C-690713 ~

(SEE NOTE 1)
3
;RONr ° PLATE SC-C-690714
— et (SEE NOTE 1)
SEE FI6.1-22
eqrGLz:

ELITAOO3

Figure 1-2() . Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in Tank, Combat, Full-Tracked, 106MM Gun, M60A1, for FM radio sets.

:‘owgls(csc;‘nsusgcvz )CABLE ASS'Y rWASHER IET, 3/16 (1| REQ D)

-_ | NUT, HEX,5/16-18 (9 REQ'D)

S.P CX~4720/VRC(P/O RADIO SET j - :

S ARNESS] FROM 24V POWER SCREW, HEX HD,5/16-18x3/4(| REQ D)
RECEPTACLE IN TURRET BULGE /
& CONNECT TO ELBOW CONNECTOR

OF TRANSIENT SUPPRESSOR. : r EL. GROUND LEAD
CONNECT CABLE ASSEMBLY

CX-10613/G TO POWER RECEPTACLE RIGHT “ ~ CIRCUIT RESET SWITCH
LOCATED ON SIDE OF SUPPRESSOR. TURRET

CONNECT OTHER END TO 24V POWER WALL
RECEPTACLE IN TURRET BULGE

2 —CLAMP CABLE ASSEMBLIES TO
EXISTING SPACERS

LA b
NI A
3—IF TRANSIENT SUPPRESSOR . 7 7

MX-7778(A)/GRC 1S SUPPLIED
IN LIEU OF Mx-7778/GRC

REFER To—F16 1-23 2 , ' A :
- A ; — 4. CABLE ASSEMBLY,

"] $P Cx-106i3/G TO 24V
. POWER RECEPTACLE IN TURRET
BULGE (SEE NOTES ! AND2)

SEARCHLIGHT —

CONTROL BOX CABLE ASS'Y S P Cx-4720/VRC

/lz_ﬁ (P70 RADIO SET HARNESS)
ROTATE ELBOW ) CONNECTED TO MOUNTING
CONNECTORS _/

90° TO POSITION X
AS SHOWN 7 of
FrRON ¢
veniet
-ELECTRICAL TRANSIENT SUPPRESSOR
MX-7T78/GRC OR MX-7778(A)/GRC

ELITAOOSG

MT ~-1029/VRC
(SEE NOTES i AND 2}

Figure 1-2(D . Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in Tank, Combat, Full-Tracked, 105MM Gun, M60A1, for FM radio sets.




— SHELF FOR COMMUNICATION EQUIPMENT

NQTES (SHEET 1) l‘

| —REMOVE THE TWO CANTEENS —_— - \' - \
FROM THEIR BRACKETS IN . .
TURRET 8ULGE. ' :

2= BEND TANG OF THE LOWER \ 3\ ﬁ\
CANTEEN BRACKET OUT OF |\ - -
WAY AND LOCATE SUPPRESSOR PLATE SC-C-690714
MTG ASSY SC-C-6907i3 AS (NOTES | AND 3)
SHOWN AND WELD TO VEHICLE. '
ATTACH PLATE SC-C-690714 CANTEEN BRACKET
TO SUPPRESSOR MTG ASSY ATTACH (NOTES i AND 2}
RESILIENT MOUNTS TO PLATE USING |
HAROWARE AS SHOWN. SEE FTGT=22- K
CAUTION. TURN OFF VEMICLE
— MASTER SWITCH

\

MOUNT RESILIENT

SEE FIG T-22
SEE FIG1-23
\9—91, APPROX - o\
SUPPRESSOR 0 \
MOUNTING 45S'Y \
-C-69071 \
(SEE NOTES | & 2) \ TURRET RING
A
FRONT OF
VEHICLE £L1TA00S

Figure 1-3(D . Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in Tank, Combat, Full-Tracked, SOMM Gun, M48A2 or M48AS3, for FM rodio sets.

NOTES: (SHEET 2)
ODISCONNECT CABLE ASSEMSBLY \T\O 24 V POWER RECEPTYACLE

CX-4720 VRC/{P/0 EXISTING
RADIO HARNESS ) FROM
24V POWER RECEPTACLE
IN TURRET BULGE AND
CONNECT TO ELBOW CONNECTOR \;
OF THE MX -7778/GRC. :

— .- SHELF FOR
\ AP

/\ COMMUNICATION
EQUIPMENT

CABLE ASS'Y
S.P.CX-10613/6

- uAGs a

{SEE NOTE 2)

CONNECT ONE END OF
CABLE ASS'Y CX-i08i3/6
POWER RECEPTACLE ON
SIDE OF SUPPRESSOR
CONNECT THE OTHER
SIDE TO 24V POWER
RECEPTACLE IN TURRET

BULGE.

CLAMP CABLE ASSEMBLIES
TO EXISTING SPACERS.

IF TRANSIENT SUPPRESSOR sc:%x'z.q-’gm
MX-7778(A)/GRC IS (SEE NOTE 1)
SUPPLIED IN LIEV OF

ARFAKES
MX-7778/GRC REFER e

T0 Filg—=23 _/ Resey
EL GROUND LEAD
WASHER ,IET, 3 (11-REQ'D) ELECTRICAL
NUT . HEX, 2 - 18 (9-REQ'D) TRANSIENT FRONT oF
SUPPRESSOR VEMICLE

SCREW, HEX HD., - 18 x } (1- REQ'D) MX-7778/GRC T ELITAOOE

2

3

4

Figure 1-3Q) . Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in Tank, Combat, Full-Tracked, IOMM Gun, M48A2 or M48AS, for FM radio sets.



SUPPRESSOR MOUNTING ASSEMBLY SC-C-6907)3
TANTENNA
AS -1729/VRC REMOVE BINOCULAR CASE BRACKET ( SEE DETAIL A-NOTE i)

LOCATE Supoaccens parwiTines

AR VR SUPPRESSCR TING ASS'Y SC-C-6907i3
JUNCTION .- R AND WELD IN PLACE AS SHOWN.ATTACH PLATE SC-C-690714
TO SUPPRES

LINE OF SOR MTG. ASS'Y . 'SUGGEST ATTACHING RESILIENT
TURRET ROOF ( MOUNTS(P/0 MX-7778/GRC) TO PLATE FIRST USING MARDWARE
AND waALL y [ L, AS SHOWN.
. N = : Dy e e N
P T — L —

. Y b T EXISTING WELD PADS(FOR MOUNTING
LOADER'S Lo » , 7 BINOCULAR BRACKET)
TURRET WALL\ " F

N PLATE SC-C-690714

WMOUNT,
(4 /7
BINOCULAR CASE
(7694281) /
AIR CYLINOER
(11640363)

/ = Tt
, == s UPPER RETAINING STRAP
. - e ; |
N T AR N

CYLINDER SUPPORT BRACKET
(11665037)

/—'"—_“’-.

INSTALLATION PROCEDURE FOR RELOCATING BINOCULAR CASE BRACKET:

STEP | -REMOVE COMMANOER'S CANTEEN FROM CYLINDER SUPPORT BRACKET (1i665037) ON UPPER

RETAINING STRAP (i1652917) FOR AIR CYLINOER (11640363) LOCATED ON REAR OF TURRET.

STEP 2 - MOUNT BINOCULAR CASE (7694281) ON CYLINDER SUPPORT BRACKET THROUGH STRAP ON
REAR FACE OF BINOCULAR CASE.

STEP 3 - UNFASTEN BINOCULAR CASE NECK STRAP ASSEMBLY - PASS END OF NECK STRAP ASSEMBLY
THROUGH ATTACHING HOOKS OF COMMANDER'S CANTEEN CARRIER AND AROQUND AIR CYLINDER
(11640363 ), IMMEDIATELY ABOVE CYLINDER'S UPPER RETAINING STRAP (11652917 ), AND SECURE
FIRMLY TO AIR CYLINDER (11640363).

ELITAQO7

Figure 1-4® . Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in Armored Reconnaissance Airborne Assault Vehicle M551, for FM radio sets.



CAJTION TURN OFF VEHICLE MASTER SWITCH

NCTE
| —— DISCONNECT EXISTING RADIO POWER CABLE{P/O VEHICLE)

DN MT_iN2Q/uDr OCACDTAMN © 191 ATTACK TA ANADTED ~aQ: ©
TRUM MiTIVULI/ VRV REULAF 1MULLE Jel, Rl TRV TV AyMaricnR LACDWLL

THE ADAPTER CABLE THEN IS CONNECTED TO CABLE ASSEMBLY
SP Cx-10613/G ON TRANSIENT SUPPRESSOR MX-7778/GRC.

A~ = A AmAA L imAala sy v

2—ATTACH ONE END OF CABLE ASSEMBLY S.P CX-4720/VRC(6FT) 70
90® ELBOW RECEPTACLE ON THE MX-7778/GRC, AS SHOWN, ~CLAMP STRAP KIT
CONNECT OTHER END TO RECEPTACLE J2| OF MOUNTING MT-1029/VRC. / (SEE NOTE 3 )

3 —CLAMP CABLE ASSEMBLIES TO EXISTING SPACERS OR HOLES

A / CABLE ASSLY S P CX-106i3/G
¢ v / /
S

~WASHER,1LE T 5/16(11 REQ'D)
NUT, HEX,5/16-18 (3 REQ'D)
SCREW,HEX HD.,5/16-18x3/4

RADIO POWER\ (1 REQ'D)

CABLE(P/O
VEH. HARNESS)

T

TRANSIENT SUPPRESSOR
Mx-7778/GRC(FIG+—22) OR

RESET SWITCH &

GROUND LEAD ON /’ oF MX-7778(A)/GRC(FIG—=28)
THIS SIDE S jO/NT———’
™ \\ URRET
SEE FiG. [-22 S
SEE FIG1-23 "~ —CABLE ASS'Y S.R CX-4720/VRC(6FT)

TO MOUNTING MT-1029/VRC
RECEPTACLE J21.{SEE NOTE 2)

EL’TA008
Figure 1-4(D . Instailation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in Armored Reconnaissance Airborne Assault Vehicle M551, for FM radio sets.
NOTES -MT-1029/VRC
{ — BEFORE INSTALLING SUPPRESSOR MOUNTING LOWER RA& T
ASS'Y SC-C-690713 REMOVE SPACERS ON L S UPPORT ity RS
SIDE OF LOWER RADIO SUPPORT THEN e
LOCATE SUPPRESSOR MOUNTING ASS'Y Sk\; \%
AS SHOWN, ANO WELD IN PLACE - ‘/ ~ ((\
ATTACH PLATE SC-C-6907!4 TO % N . 2z !
SUPPRESSOR MOUNTING ASS'Y THEN Xl on” N - — EL GROUND LEAD
X S ~RL TN }
ATTACH RESILIENT MOUNTS, USING & ) ﬁ"wbz .
! T XM
A A P | 1 - .
CAUTION TURN OFF vEMICLE wASTER switcn  © © Sy AR 4330 vac
< o [N X- v
_— % N 5) (SEE NOTE 283)
2 — REMOVE CABLE ASS'Y SP CX-4720/VRC - N
(P70 RADIO SET HARNESS) FROM 24V Noo™ )
< W“bHLK iET N
VEHICLE POWER RECEPTACLE AND ATTACH . \x\‘ /\ * 8/16(11 REQ'D)
TO 90° ELBOW RECEPTACLE ON \\_§\’A, , NUT, HEX, 5/|s 8,
THE MX-7778/GRC,AS SHOWN s \,‘%&<;_.= ! ! \ */] {9 REQD
1OWN. VEHW TERMINAL' 7 \\4;,{1/ )
THEN CONNECT ONE END OF CABLE  gQox IN MULL bt FE N gf;im:‘gf"(*&som
ASS'Y SP Cx-10613/G  TO POWER VTN A
RECEPTACLE ON SIDE OF Mx-7778/GRC, \ - K
CONNECT OTHER END TO 24VOC VEHICLE k CIRCUIT BREAKER
POWER RECEPTACLE,AS SHOWN. VER POWER RECEPTACLE Ese
4 SUPPRESSOR MOUNTING ASS'Y — -EL. TRANSIENT SUPPRESSOR

3— CLAMP CABLE ASS'Y TO EXISTING

SC-C-6907I13(SEE NOTE | &
SPACERS OR HOLES FIT=227

CABLE ASS'Y SP CX-10613/G
4— IF TRANSIENT SUPPRESSOR MX-7778A)/GRC PLATE SC-C-690714(SEE NOTE ()— | (SEE NOTE 28 1)
(S SUPPLIED IN LIEU OF MX-7778/GRC L
REFER TO FIG (-
EFER TO FiG1=23, SEE F = MOUNT, RESILIENT (4 REQ'D)
SEE FF% EL1TACO9

tigure 1-5. Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in vehicle M42A1, for FM radio sets.



NOTES

|—— LOCATE SUPPRESSOR MOUNTING
ASSY,SC-C-690713 AS SHOWN,
IF THIS SPACE 1S NOT AVAILABLE
USE ALTERNATE LOCATION THEN
WELD IN PLACE ATTACH PLATE
SC-C-690714 TO SUPPRESSOR
MOUNTING ASS'Y THEN ATTACH
RESILIENT MOUNTS USING
HAROWARE PROVIDED WITH
MX-7778/GRC SEE FiG+—22
CAUTION TURN OFF VEHICLE

MASTER SWITCH

2— REMOVE CAB_E ASS'Y SP
CX-4720/VRC(P/QO RADIO SET
HARNESS) FROM 24V VERICLE
POWER RECEPTACLE AND
ATTACH TO 90° ELBOW
RECEPTACLE ON THE
MX-7778/GRC AS SHOWN !

CABLE ASS'Y S.P Cx-10613/G
TO THE POWER RECEPTACLE
ON THE SIDE OF Mx-7778/GRC,

CONNECT OTHER END TO 24vDC —
. / ’

VEHICLE POWER RECEPTACLE
AS SHOWN.

3—CLAMP CABLE ASS'Y TO EXISTING

SPACERS OR MOLES.
4—{F TRANSIENT SUPPRESSOR
mx-7778{A)/GRC 1S SUPPLIED

IN LIEU OF Mx-7778/GRC REFER

T0 FIGO=23

/

THEN CONNECT ONE END OF Qk-'-'u‘-_; .

CABL_E ASS Y SPCx-4720  vRC
JSEE NOTE 28 31
RADIC TERMINAL BCx
PONER RECEPTAC_E .24 ,OC

ALTERNATE LOCATION FOR
TRANSIENT SJUPPRESSOR

- - —_ CABLE ASS'Y SPCx-06,3/G
~ e e (SEE NCTE 283,

EL TRANSIENT
SUPPRESSOR MX-7778/GRC
OR MX-7778(i)/GRC

/WASHERJ ET.S/I6(1REQD
NUT,HEX ,5/16-18(9 REQ'D)
SCREW,HEX HD 5/16 18
3/4 LONG (1 REQ'D)

PLATE,SC-C-6907!
(SEE NOTE 1)

SUPPRESSOR MOUNTING ASS
SC-C-690713(SEE NOTE I

MOUNTING,MT-1029/VRC

SEE FIG 1-22

SEEEG 1323

CY P
- ~_
/ /’\ -

i [ ~
: MOUNT,RESILIENT, 4 REQ'D

,, EL GROUND LEAD
—CIRCUIT BREAKER RESET

RADIO SHELF

ELITACO

Pigure 1-6. Installation instructions for Electrical Transient Suppressor for MX-7778/GRC, or MX-

7778A/GRC in vehicle M41, for FM radio sets.



NOTES (RECTIFIER TRANS RT-662/GRC-106 OR
\, RECTIFIER TRANS RT-834/GRC-I06A
|——LOCATE SUPPRESSOR MOUNTING
ASS'Y SC-C-690712 AS SHOWN \ I
AND WELD IN PLACE ATTACH | B,

PLATE SC-C-690714 TO SUPPRESSOR
MOUNTING ASS'Y THEN ATTACH
RESILIENT MOUNTS, USING HARDWARE ‘ \ .
PROVIDED WITH MX-7778/GRC.SEE Fi&+—22—
CAUTION: TURN OFF VEMICLE MASTER ,<
SWITCH. ~ .

2 ——REMOVE CABLE ASSEMBLY'S (2 EACH) N

S P CX-10071/U(PrO RADIO SET HARNESS)

FROM 24V VEHICLE POWER RECEPTACLES

J \

AND ATTACH TO 90° ELBOW

. i l
£
RECEPTACLES ON THE ~AD E Ace'w

LRMOLE R0 7~

MX-7778/GRC AS SHOWN S.P CX-10071/U N
CONNECT ONE END OF CABLE (SEE NOTE 283) ’ W‘“’ ,
ASS'Y SP Cx-10813/G TO {

N .
THE SINGLE POWER INPUT RECEPTACLE ‘(o}f

ON SIDE OF MX-7778/GRC, THE OTHER
END IS ATTACHED TO THE 24VDC

e N
VEHICLE POWER RECEPTACLE FRO L E
AS SHOWN vEH

1-—(‘! AMO CARLF AQSFMRI Y Tﬁ

AMiT LASLT =4

EXISTING SPACERS OR HOLES
4— IF TRANSIENT SUPPRESSOR
MX-7778{A)/GRC 1S SUPPLIED IN

LIEU OF Mx-7778/GRC REFER TO
Fle—=23.

SEE FI=22—
SEE FIE—23

MOUNT, RESILOENT ‘
(@ REQ'D)

WASHER, | F_T,s/ue(nasoo)J i
NUT, HEX,5/16-18 (9 REQD) \
SCREW,HEX HD ,5/16-18x34{(IREQD) |

\-CABLE ASS'Y SPCX-10613/G

. AMPLIFIER RADIO FREQ
r’/ AM - 3349/GRC-106

{,
VEH. POWER RECEPTACLES
?

.CIRCUIT BREAKER RESET
AND EL GROUND LEAD
ON THIS SICE OF

L TRANSIENT

SUPPRESSOR
\snrrsnv
CA
N~ ( \\\ N
™ s ' /
] NP
L
-‘/.97“‘\‘\,
LY ei

FOOTMAN S LOOP(THE B8 1/2 APPROX

PAAT MBI AS QT M~ EAD T YaT-1)
UIMLNDIUN MUST CLEAR IHID LOUr )

L——'suwnss:«:ore MOUNTING 45 ¥

SC-C-6907
({SEE NOTE 1)

EL TRANSIENT SUPPRESSOR MX-7778/GRC
PLATE SC-C-690714 (SEE NOTE 1)

(SEE NOTE 28 3)
ELLITAO!I

Figure 1-7. Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in vehicles M113, M113A1, M132, or M132A1, for Radio Sets AN/GRC-106 and AN/GRC- 106A.

10



NOTES

——REMOVE AF AMPLIFIER AM-i780/VRC
CABLE ASSEMBLIES(CAETIQ MARK
CABLE ASSEMBLIES WiTH APPROPRIATE
RECEPTACLE NUMBER)AND MOUNTING
BRACKET BEFORE LOCATING TRANSIENT

SUPPRESSOR Mx-?7778/GRC. SET ASIDE
RESSOR MX-7778/GRC. .52 2V

MOUNTING MARDWARE FOR USE WITH NOTE 5

2— LOCATE SUPPRESSOR MOUNTING ASS'Y

SC-C-890712 AS SHOWN AND WELD IN PLACE

o3 /3 2NVWN,ANY ELY

ATTACH PLATE SC-C-690714 TO
SUPPRESSOR MTG. ASS'Y THEN ATTACH
RESILIENT MOUNTS USING HARDWARE
PROVIDED WITH MX-7778/GRC.

3-—REMOVE CABLE ASSY S.P
Cx-4720/VRC(PO RADIO SET
MARNESS)FROM 24V VERICLE
POWER RECEPTACLE AND ATTACH
TO 90° ELBOW RECEPTACLE ON
THE MX-7778/GRC AS SHOWN.
THEN CONNECT ONE END OF
CABLE ASS'Y S.P CXx-10613/G
TO THE POWER RECEPTACLE
ON SIDE OF Mx-7778/GRC,
CONNECT QTHER END TO 24 VOC
VEH POWER RECEPTACLE AS SHOWN,

4-— CLAMP CABLE ASS'Y TO EXISTING
SPACERS OR HOLES.

5— INSTALL BRACKET, SC-C-630732 ON
RADIO SHELF USING EXISTING MOUNTING

HOLES AND HARDWARE SECURE AF AMPLIFIER

ARSI _TVAA PA ABAALET &R A _SOATIA wunTus
AWTITDV 1V ORAUVRE T JL-L-OVI <& WwWiTH

EXISTING HARODWARE. RE-INSTALL CABLE ASS'YS

iIN PROPER RECEPTACLES.

CABLE ASS Y S.P Cx-106i3/G  (2FT LONG;

\ (SEE NOTE 38 4)

\ _VEH TERMINAL BOX

PCOW!
CABLE ASS'Y SP Cx-4720/VRC-  \ 8 POWER RECEPTACLE
(SEE NOTE 38 4) \ »\ CAUTION TURN OFF
\ i VEMICLE MASTER

SWwiTCH

FRONT OF
VEHICLE

¢RADIO MT-1029/VRC

-TO DRIVER'S
C-2298 CONTROL

-. TO MT-1029/VRC

e —_— 7 AMPLIFIER

_AM-1780/VRC

(SEE NOTES
] ANhs\

AND

Ass_wam

AF AMPLIFIER AM-i le'VRj

WASHER,L.ET,5/16(11 REQ'D)
NUT,HEX,5/16 - 18(9 REQ'D) o '

CrPfw WuE ¥ WD SaE. s 1/al READY i
NG Wy, A NI JISTIQRIITU "L'v’ : L

raansmmo:u':p?s?ses(gs&{c/
MX: X-
EEFeEs 8N
PLATE,SC-C- 690714 —
(SEE NOTE 2) SEEFIG 1-22
SEE FIe—T=23

‘\

AN
, AN
71——- -
i ) TO CHIEF OF SECTION'S

C-2298 CONTROL

CIRCUIT BREAKER RESET 8 EL
GROUND LEAD ON THIS SIDE OF

EL TRANSIENT SUPPRESSOR
MOUNT, RESILIENT (¢ REQD)

SUPPRESSOR MOUNTING ASS Y
SC-C-690712 (SEE NOTE 2 8 F(G1=73)

220X e

BRACKET .SC-C-690732 FOR/ / : /'

~
~—
—

ELITAOI2

Figure 1-8. Instsllation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in vehicles M106 and M125, for FM radio sets.

n



NOTES

~CABLE ASSEMBLY SP Cx-472G/¢R
| —LOCATE SUPPRESSOR MOUNTING ASS'Y B e NG 3 A h7e0svRe
SC-C-690712 AS SHOWN AND WELD iN CABLE ASSY S P Cx-IC6I13/G JERICLE
PLACE ATTACH PLATE SC-C-690714 TO {SEE NOTE 2813} POWER MT-1029/ VRC
SUPPRESSOR MTG A THEN ATT RECEPTACLE
MTG ASS ¥ THEN ACH FUEL TANK WALL -,
RESILIENT MOUNTS USING HARDWARE e
......... - e e Dasanni i ST T T
PROVIDED WiTH MX-7778/GRC SEE Fi—=2" e r ’ N
> ' ‘ RU
2 -- REMOVE CABLE ASS'Y SP CX-4720/VRC ; P -
{P/0 RADIO SET HARNESS) FROM 24V (o ] ] ~—
M P R TA A CIRCUIT - ’ ¥ ¢l
VEHICLE OWSR ECEZ CLET ND SRour @ - vom il :__1\2//
ATTACH TO 30° ELBOW RECEPTACLE RESET S g€ | ,

THEN CONNECT ONE END OF CABLE
ASS'Y SP Cx-106i3/G  TO THE POWFR
RECEPTACLE ON SIDE OF Mx-7778/GRC,

ON THE MX-7778/GRC AS SHOWN. \ &

CONNECT OTHER END TO 24VDC VEMICLE L
POWER RECEPTACLE AS SHOWN. <’\\

3— CLAMP CABLE ASS'Y TO EXISTING
SPACERS OR HOLES.

EL. TRANSIENT

4—IF TRANSIENT SUPPRESSOR SUPPRESSOR MX-7778/GRC N : \ -
MX-7778(A)/GRC IS SUPPLIED IN LIEU ~._\ .
OF MX-7778/GRC REFER TO FiG——23. et e " MOUNT <>
CAUTION: TURN OFF VEHICLE (SEE NQTE | ) : N\ RESILIENT "a,,"‘*
MASTER SWITCH. L N {4 REQ'D) <&
SUPPRESSOR MTG ASS'Y— " EL.GROUND LEAD
SC-C-690712 \
(SEE NOTE 1) WASHER,LET,5/16 (Il REQ'D)
NUT HEX, 5/16-18 (3 REQ'D)
SCREW, H /16-
seE Fi6G—22— W o B r3mLe
SEE FIGT=23

ELITAOI3

Figure 1-9. Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in vehicles M113A1, or M132A1, for FM radio sets.

12



rVEHICLE POWER RECEPTACLE

NOTES:
\ LOCATE SUPPRESSOR MOUNTING ASS'Y \ (CABLE ASS'Y S.P CX-I0613/G(SEE NOTES 28 3)

SC-C-690712 AS SHOWN,AND WELD IN

PLACE ATTACH PLATE SC-C-690714 a
FUEL TANK WALL |

\
TO SUPPRESSOR MTG. ASS Y. THEN \ \
SR MT-1029/VRC
ING \ - /m'\ —_
ATTACH RESILIENT MOUNTS US (/ | . \

ABLE ASS'Y S.P CXx-4720/VRC
! (SEE NOTES 28 1)

HARDWARE PROVIOED WITH MX-7778/GRC

2— REMOVE CABLE ASS'Y S.P CX-4720/VRC \/ B\(\ \
(P70 RADIO SET HARNESS)FROM 24V
VEMICLE POWER RECEPTACLE AND
ATTACH TO 90® ELBOW RECEPTACLE l
ON THE MX-7778/GRC AS SHOWN.

THEN CONNECT ONE ENO OF CABLE i
ASS'Y SP CX-10813/G TO THE POWER : /\ .

RECEPTACLE ON THE SIDE OF MX-7778/GRC, L )

CONNECT OTHER END TO 24VOC
i) £ AAWES BEAPATAN £ AC Cur <\\\

LA
VERAIVLE FUWER RELVEFriAVLE A oMV

3— CLAMP CABLE ASS'Y TO EXISTING ¥ tagy
SPACERS OR HOLES TR -y Pl J
4 ——IF TRANSIENT SUPPRESSOR MX-T778(A)/GRC IS - / / } / Lo - Loy,
SUPPLIED IN LIEU OF MX-7778/GRC REFER TO FIG—23 ' N P
CIRCUIT BREAKER RESET o/ | S
AUTION: TURN OFF VEMICLE MASTER SWITCH EL. GROUND LEA ‘
SauTioN v € WASMER,L.ET,5/16 (11 REQD / ; L
NUT,HEX,8/16-18 (9 REQD) A B A el
o i
SEE Flﬁ: SCREW HEX H0,5/16-18x3/4 LG( | REQD) )«
SEE Fig—=23 EL TRANSIENT SUPPRESSOR MX-7T78/GRCJ LSUPPRESSOR
a1 ATe er .~ OTi4- MOUNTING ASSEMBLY
PLATE SC.C-6907i4 (5c-c-690712)
(SEE NOTE | 8 FIGT=22
EL1TAQ44

Pigure 1-10. Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in vehicles M113 or M132, for FM radio sets.



NOTES
! LOCATE SUPPRESSOR MOUNTING ASS'Y

SC-C-690713 AS SHOWN AND WELD IN
PLACE. ATTACH PLATE SC-C-6907i4 TO

SUPPRESSOR MOUNTING ASS'Y. THEN

ATTACH RESILIENT MOUNTS USING HARDWARE

PROVIDED WITH MX-7778/GRC.

CAUTION TURN OFF VEHICLE MASTER SWITCH.
2—— REMOVE CABLE ASS'Y S.P Cx-4720/VRC

(P70 RADIO SET HARNESS) FROM 24V
VEHICLE POWER RECEPTACLE AND
ATTACH TO 90° ELBOW RECEPTACLE
ON THE MX-7778/GRC AS SHOWN.

THEN CONNECT ONE END OF CABLE ASS'Y

S.P CX-106i3/G TO THE POWER

RECEPTACLE ON THE SIOE OF Mx-7778/GRC,
CONNECT OTHER END TO 24VDC VERICLE

POWER RECEPTACLE AS SHOWN.

3——CLAMP CABLE ASS'Y TO EXISTING SPACERS

OR HOLES.

4—— IF TRANSIENT SUPPRESSOR MX-7778(A)/GRC
IS SUPPLIED IN LIEU OF MX-7778/GRC

REFER TO Fi6+—23

SEE F16.T=22
SEE Fie——23

EL TRANSIENT swpaessoa
M 8/GRC OR
MX - T??B(A)/GRC
WASHER,| ETS/I6(IREQD) = | ‘
NUT, HEX ,5/16-18(9 REQ'D) ) !

SCREW,HEX HO.,5/16-18 x
3/4 LONG(1 REQ'D)

MOUNT, RESILIENT

CIRCUIT BREAKER FCABLE ASS'Y SPCX-I0613/G

RESET 8 EL CROUND , {SEE NOTE 283)
LEAD ON THIS SIDE | | a0 o sccy b ox-4720/ VAC
OF EL TRANSIENT ‘
SUPPRESSOR o (SEE NOTE 283)
Qt I RADIO TERMINAL BOX
L . POWER RECEPTACLE

\—  (28VDC)

S

/MOUNTING MT-1029/ VRC
/ [H.ATE SC-C-690714(SEE NOTE 1)

SUPPRESSOR MOUNTING ASS'Y
SC-C-690713(SEE NOTE | & Fig—=22)

ELITAQ1S

Figure 1-11. Installation instructions for Electrical Transient Suppressor for MX-7778/GRC, or MX-
7778A/GRC in vehicle M88, for FM radio set.

14



NOTES

Q ~—

rp—

, WASHER,IET, 5 (11 REQ D)

S ELECTRICAL TRANSIENT SUPPRE
#?ejﬁgﬁ)

i€
NUT, HEX, & -1BIS REQ'D) / MX-TT78/GRC CR MX-?778.ANGRC (

| SCREW,HEX HD 2 -18x (1 REQD)
\ CABLE ASS'Y,SP CX-4720/VRC

\CLAMP K ,:/// / ,‘/-(P/O RADIO SET HARNESS)(SEE NOTE 3)

/ RIGHT TURRET

REMOVE CANTEEN/45 CALIBER _
AMMUNITION BRACKET | \

CENTER SUPPRESSOR MOUNTING ASS'Y SC-C-609713
IN AREA VACATED BY CANTEEN/45

"TO MOUNTING MT-1029/VRC

CALIBER AMMUNITION BRACKET 4 | Hang
AND WELD TO VEMICLE ATTACH PLATE | T GRE’“DE

SC-C-609714 TO SUPPRESSOR MTG ASS'Y / (\ — S

THEN ATTACH RESILIENT MOUNTS 4 .

USING MARDWARE AS SHOWN. ! : L

REMOVE CABLE ASSEMBLY, I’// \__ T~

SP CX-4720/VRC (P/O RADIO [/ TO 24V POWER RECEPTACLE
SET HARNESS) FROM 24 V K . LT

POWER RECEPTACLE IN TURRET / exgt

BULGE AND ATTACH TO THE - CABLE ASSEMBLY S.P CX-106i3/G
MX-7778 /GRC AS SHOWN. VL) (SEE NOTE 3)

SUPPRESSOR MTG. ASS'Y SC-C-609713

CONNECT ONE END OF TME
(SEE NOTES | AND 3 ) SEE Fic+-=22

CABLE ASSEMBLY,S P CX-!0613/G -T ..
TO POWER RECEPTACLE —_— " =~ PLATE, SC-C-690714 (SEE NOTES | AND 3)

ON SIDE OF THE MOUNT,RESILIENT =~ NRCUGT BREAKER RESET

MX-7778/GRC, CONNECT <

OTHER END TO THE 24v Co GROUND LEAD - \ GAUTION. TURN OFF VEMICLE
POWER RECEPTACLE IN of . MASTER SWITCH.
TURRET BULGE. oNL 7 ~
e aictf SEE FloT22
CLAMP CABLE ASSEMBLIES T -
vE TURRET RING ~/  SEE FIGT-23 ELITAOIG

TO EXISTING SPACERS.

Pigure 1-12. Instclistion instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in Tank M60, for FM radio sets.



NOTES: I“/ANTENNA
{——LOCATE SUPPRESSOR MOUNTING —MOUNTING ,MT-1029/VRC
\

1

ASS'Y,SC-C-690713 AS SHOWN, 1;3{
AND WELD IN PLACE. ATTACH PLATE =3
SC-C-690714 TO SUPPRESSOR CABLE ASSEMBLY i)
MTG. ASS'Y. THEN ATTACH RESILIENT  S.P CX-4720/VRC ‘\ R W
MOUNTS USING HARDWARE PROVIDED ‘SE& MOTE 283) \ r “"*7/(7:5».1 /
WITH MX-7778/GRC. SEE FIG—T=22. T BR )\,/T*" ~ A ] I
CAUTION: TURN OFF VEHICLE oot & el orouND | r== i e

MASTER SWITCH. \_ LEAD ON THIS .9 i 2 ANER

- VEMICLE POWER
2——REMOVE CABLE ASS'Y SP Cx-4720/VRC\ RansiENT !/ RECEPTACLE

(P70 RADIO SET HARNESS)FROM \SUPPRESSOR R wie¥ </ (24 V0C)
24V VEHICLE POWER RECEPTACLE <= Bl FF . hd

AND ATTACH TO 90° ELBOW RECEPTACLE
ON THE MX-7778/GRC AS SHOWN. THEN

CONNECT ONE END OF CABLE ASS'Y.
S.P. CX-10613/G TO THE POWER

“CABLE ASSEMBLY
S.P CX-10613/G
7 (SEE NOTE 283)

RECEPTACLE ON THE SIDE OF MX-7778/GRC,
CONNECT OTHER END TO 24VDC VEHICLE
POWER RECEPTACLE AS SHOWN.

3—CLAMP CABLE ASSY TO EXISTING

SPACERS OR HOLES.

4— IF TRANSIENT SUPPRESSOR
MX-77T78(AI/GRC 1S SUPPLIED
IN LUEU OF MX-7778/GRC
REFER TO FIG =23

(SEE \
SEE FIG =232 MOUNT,RESILIENT, 4 REQ'D
SEE Fic—23 /
SUPPRESSOR MOQUNTING-/ LWASHER,1E T ,5/16 (1| REQD)
ASS'Y,SC-C-690713 NUT, HEX.,5/16 -18 (9 REQ'D)
(SEE NOTE 1) P hER ,
SCREW,HEX HD..5/16-18 x3/4 LG.(| REQ'D) ELITAOIT

Figure 1-13. Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in Vehicle M58, for FM radio sets.

%



RECTIFIER TRANS RT-662/GRC-106 OR- ~AMPLIFIER RADIO FREQ

CABLE ASSY SP Cx-1061¥G (SEE NOTE 283)- RECTIFIER TRANS RT-834/GRC-I06A - AM - 3349/GRC -106

VEMICLE POWER RECEPTACLE~

NOTES:

3 ——

4——iF TRANSIENT SUPPRESSOR

\CABLE ASS'Y S P CXx-tO071/U(SEE NOTE 283)

LOCATE SUPPRESSOR MOUNTING ASS'Y™ k
SC-C-690712 AS SHOWN,AND WELD N
IN PLACE ATTACH PLATE SC-C-690714 | N
TO SUPPRESSOR MOUNTING ASSY. THEN | wf
ATTACH RESILIENT MOUNTS, USING
HARDWARE PROVIDED WITH MX-7778&GRC!
CAUTION TURN OFF VEMICLE MASTER

SWITCH
REMOVE CABLE ASSEMBLY'S(2 EACH) l
SP Cx-100717U(P/0 RADIO SET HARNESS)

~ R
FROM 24V VEWICLE POWER RECEPTACLES ~ _ AN
AND ATTACH TO 90° ELBOW RECEPTACLES j P f =5 BN
- i \ . .'.ﬁ » o
ON THE MX-7778/GRC AS SHOWN. HELMET! : AR ¢ (:(‘_ ) W\,
CONNECT ONE END OF CABLE ASSY  STORAGE AR 50 A M
SP CX-I06i3/G  TO THE SINGLE f \ \ cuR? A e
POWER INPUT RECEPTACLE ON SIDE CIRCUIT BRE f - /l K of
MX-7778/GRC,T THER END | RESET @ EL. - | | e
:'ncnso :oe::uenzeogoci em'::o ss GROUND LEAD ‘ : 5N
VEHICL ON THIS SIDE OF 2
POWER RECEPTACLE AS SHOWN. EL TRANSIENT \
CLAMP CABLE ASSEMBLY TO SUPPRESSOR \

\WASHER,| £ T 5/16(11REQD)
NUT HEX,5/16-18(9 REQ’'D)
SCREW,HEX HOD. .5/16-18x3/4 LG (I PEQD)

\{ MOUNT, RESILIENT (4 REQ'D)

L.TRANSIENT SUPPRESSOR MX-7778/GRC
OR MX-7778(AV/GRC ELITAOIS

EXISTING SPACERS OR MOLES.

MX-77TTS(AVGRC IS SUPPLIED SUPPRESSOR MOUNTING ASS'Y-

IN UEU OF MX-7T778/ REFER  SC-C-690712 (SEE NOTE |
10 FIG1-33 one AND FIG=ZZ}

PLATE,SC-C-690714(SEE NOTE 1)

Figure 1-14. Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in vehicle M114A1, for Radio Sets AN/GRC-106, and AN/GRC-106A.



NOTE \-CABLE ASS'Y SP CX-106i13/G (SEE NOTE 28 3)

| ——_OCATE SUPPRESSOR MOUNTING ASS'Y |

2——REMOVE CABLE ASS'Y S.P.CX-4720/VRC

SC-C-630712 AS SHOWN,AND WELD IN PLACE.
ATTACH PLATE SC-C-6907i4 TO SUPPRESSOR / XEHICLE POWER RECEPTACLE (24 vOC)

MOUNTING ASS'Y THEN ATTACH RESILIENT .-
| T

/%BLE ASS'Y SP Cx-4720/VRC(SEE NOTE 243)

MOUNTS USING HARDWARE PROVIDED
WITH MX-7778/GRC. SEE Fi6———22

SAng_Q_Q TURN OFF VEHICLE MASTER
SWITCH.

(P/O RADIO SET HARNESS)FROM 24V )) wALL
VEMICLE PQWER RECEPTACLE AND |

1
ATTACH TO 90° ELBOW RECEPTACLE ( /
ON THE MX-7778/GRC AS SHOWN
THEN CONNECT ONE END QF CARLE N\

ASSY SP CX-10613/G TO THE POWER
RECEPTACLE ON THE SIDE OF MX-7778/GRC, o

AL A e maim v A A

CONNECT OTHER END TO 24VDC
VEHRICLE POWER RECEPTACLE

/g -

MX-7778(A)/GRC 1S SUPPLIED IN

AS SHOWN. cmcurr BRE . ’ R,
53— CLAMP CABLE ASSEMBLY TO EXISTING & EL.GROUND 1 4 |
LEAD ON THIS \( J |
P
¥ TRANSIENT SuPP SIE OF ELECTRICAL h \ TWO MT-1029/VRC RADIO'S
|

4—IF TRANSIENT SUPPRESSOR TRANSIENT SUPPRESSOR. !
|
|

18

} ; \WASHER, | E T.,5/16 (11 REQD)
LIEU OF MX-?778/GRC REFER

TO FAet+—23 SUPPRESSOR MOUNTING ASSY-J"

; NUT.HEX ,5/16-18(9 REQ D)
G AS ! SCREW,HEX.HD.,3/16-1813/4 LG. (I REQ'D)
SC-C-6907i2{SEE NOTE i} }L
SEE F
RS

EL.TRANSIENT SUPPRESSOR MX-7778/GRC
LMOUNT,RESHJENT (4 REQ'D)
PLATE, SC-C-690714(SFF NOTE 1) ELL

- 7 P e | O oo aa Derer Vet ol

'or Blecincai Transient ouppressor MA-7776/UunC, or MA-

' f
7778A/GRC in vehicle M114Al, for FM rodio sets.



NOTES:

! LOCATE SUPPRESSOR MOUNTING
ASS'Y SC-C-690712 AS SHOWN
AND WELD IN PLACE ATTACH
PLATE SC-C-690714 TO
SUPPRESSOR MOUNTING
ASS’Y THEN ATTACH
RESILIENT MOUNTS USING
HARDWARE PROVIDED WITH --

MX-7778/GRC. SEE FiGI=22.
. TURN OFF VEHICLE
MASTER SWITCH.
2—— REMOVE CABLE ASR'Y SP
Cx-4720/VRC(P/O RADIO SET
HARNESS)FROM 24V VEHICLE
POWER RECEPTACLE AND
ATTACH TO 90° ELBOW
RECEPTACLE ON THE

—

ONE MT-1029/VRC PLUS : .
ONE MT-1898/VRC A A ey o

VEHICLE POWER
RECEPTACLE (24VOC)
IOFTLGCABLE ASS'Y
S.P Cx-4720/VRC

(SEE NOTE 283)
WASHER,|.ET,5/16(11 REQD)
NUT, HEX,5/16-18(3 REQ'D)
SCREW,HEX HD.,5/16-18x

MX-7778/GRC AS SHOWN. 3/4 LG{1 REQD)
THEN CONNECT ONE END OF
CABLE ASS'Y S.P CX-10613/6
TO POWER RECEPTACLE ON THE
SIDE OF MX-7778/GRC, CONNECT
OTHER END TO 24VOC VEHICLE €L TRANSIENT SUPPRESSOR
POWER RECEPTACLE AS SHOWN. MX-7778/GRC
3—— CLAMP CABLE ASSEMBLY TO EXISTING ‘ ?'-\ sug:’gggcl;&?;:ésigs&e“ N
SPACERS OR HOLES. P B SC-C-690712(SEE NOTE 1)
4—— IF TRANSIENT SUPPRESSOR MX-P778(A)/GRC 9 MOUNT,RESILIENT (4 REQ'D)
IS SUPPLIED IN LIEU OF Mx-7778/GRC REFER L ]
T0 AGH23- IRCUIT BREAKER RESET.
SEE Fig1—22 eo::m LEAD
LES
SEE Fie—1+—23

Pigure 1-16. Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-

7778A/GRC in vehicie M116, for FM radio sets.

EL1TAO20



NOTES CLAMP STRAP —- 24 yoC

I LOCATE SUPPRESSOR MOUNTING ASS'y PLAN VIEW KIT(SEE NOTE 3 ) - ! "Om'E,ET
5C-C-690713 AS SHOWN AND WELD IN — - ——\‘ —
PLACE ATTACH PLATE SC‘\?‘G%‘/‘H‘O TO FRONT OF 1 !((411‘\#1?:‘;:1 ' e \‘\ _—‘ i / ‘
SUPPRESSOR MOUNTING ASS'Y THEN VEMICLE A L N CABLE ASSY SPCx-
ATTACH RESILIENT MOUNTS USING ‘ [ Seed \\ . “ '05'3(’:';;‘7) 24voC
~

HARDWARE PROVIDED WITH MX-7778/GRC .
(SEEFG——2270R MX-7778(A)/GRCISEEFIGI=23) | | LMT"OZ‘?/V“C ‘ AMPLIFIER, AUDIO

FREQ. AM-1780/VRC

CAUTION: TURN OFF VEHICLE MASTER T (SEE NOTE 182)
SWITCH. ] h—ls% T,
2——REMOVE CABLE ASS'Y SPCx-4720/VRC WASHER, | ET,5/6(l! aeo‘o)‘—-{—/ TRANSIENT SUPPRESSOR
(P/O RADIO SET HARNESS) FROM 24y vER NUTHEX.5/16-18(9 REQD) ; SCREW, | MX-7778/GRC OR MX-7778(AV/GRC
POWER RECEPTACLE AND ATTACH T 9ge  "EX HOS/I6-813/4 LGUIREQD)  CABLE ASS'Y SP Cx-4720/VRC (SEE NOTES283)
ELBOW RECEPTACLE ON THE MX-7778/GRC T T (sFD
AS SHOWN THEN CONNECT ONE END OF )
CABLE ASS'Y SP CX-10613/G TO THE X \
POWER RECEPTACLE ON THE SIDE OF TN\ .
MX-7778/GRC, CONNECT OTHER END TO 7 N ‘
24 VOC VEHICLE POWER RECEPTACLE \ ﬁ:‘% ) _—AMPLIFIER, AUDIO,
AS SHOWN. =D ? FREQ. AM-1780/VRC

N P : CABLE ASS'Y S P CX-4720/VRC
3——CLAMP CABLE ASS'Y e NOTE 283

OR HOLES CABLE,ASS’Y S.P

! L CX-10613/G(SEE NOTES
X w-‘,l AIA- - L — 1a2)
F\\\§4/;-- r .-

MOUNTING,MT-1029/VRC— 4
N i : i ‘ Lf . ©T -PLATE,SC-C-690714
. ; ‘ - 4 E 0

BN i , = T LeIRcuir. B8R (SEE NoOTE
\«L\ | o A T -CIRCUIT. BREAKER
XiiaL WP T . | “———GRGUND LEAD
SEE FIE——22 “Row r O.;R%‘-.-_'z:'ff’—‘ t MOUNT,RESILIENT, 4 REQ'D
Fie——23 ————SUPPRESSOR MOUNTING ASS'Y
SEE P& VEMICE $C-C-690713(SEE NOTE 1)

EL1TAQ21

Fmatmllmddnm dmadeu.mddme o ) ~J FROR gy }

B i 1_17 - - M. OV _____ LS mremn Ty . sur
Cifure i-1/. IRSIGMGIWOR IRSITUCTION JOT LASTIICGS ITGRIWNRL OUPPressor MA-///85/URC, or MA-

7778A/GRC in Amplifier Vehicis, ncher, Bridge (AVLB) VEH. M48A2 (HULL) for FM radio sets.



NOTES:

1-— LOCATE SUPPRESSOR MOUNTING
ASS’Y SC-C-690713 AS SHOWN, AND
WELD IN PLACE. ATTACH PLATE
SC-C-690714 TO SUPPRESSOR MOUNTING
ASS'Y. THEN ATTACH RESILIENT MOUNTS,
USING HAROWARE PROVIDED WiTH

MX-7778/GRC. SEE

: TURN OFF VEHICLE MASTER
SWITCH.

2——REMOVE CABLE ASS'Y S.P CX-4720/VRC
(YO RADIO SET HARNESS) FROM

CABLE ASS'Y SP Cx-10613/6
{7 FT. LONG)
(SEE NOTE 2 84)

SPACER (2 REQ'D)
SC-B-27844
(SEE NOTE 3)

24V VEWICLE POWER RECEPTACLE L. o
AND ATTACH TO 90°ELBOW 24VDC POWER 4 v —
RECEPTACLE ON THE MX-T7TOGRC RECEPTACLE
AS SHOWN. THEN CONNECT ONE
END OF CABLE ASS'Y S.P RADIO MT-1023/VRC :
CX-10613/G  TO POWER RADIO MOUNTING
RECEPTACLE ON SIDE OF CABLE ASS'Y SP
MX-TTT8/GRC.CONNECT OTHER  CX-10613/6
END YO 24VDC VEMICLE POWER B,
RECEPTACLE AS SHOWN. ,'T "ll
3— LOCATE AND WELD TWO{(2) WELD i :
PADS PER OWG. SC-B-27844, i :
1/4-28°S TO CEILING OF CAB, AS SHOWN, e
FOR SECURING CABLE ASS'Y SP I'T :
CX-4720/VRC IN PLACE. | l "]"
4— CLAMP CABLE ASSYS TO EXISTING Wl — : J
SPACERS OR HOLES. ! \""“_“T""“ '
S— IF TRANSIENT SUPPRESSOR MX-TT78{A)/GRC 'Y
IS SUPPLIED IN LIEU OF MX-7778/GRC REFER /L\ v
To "
FRONT OF
VEHICLE

f |
al | e
i ¢

CABLE ASS'Y SP CX-4720/VRC
(SEE NOTE 24 4)

CIRCUIT BREAKER RESET &
EL GROUND LEAD ON THIS

SIDE OF EL. TRANSIENT
SUPPRESSOR.

SUPPRESSOR MTG
ASS'Y SC-C-690713
.+ (SEE NOTE 1)

GR)

PLATE SC-C-650N4
(SEE NOTE 1)

EL_TRANSIENT
SUPPRESSOR
MX-T7T8/GRC

DUNT,RESILIENT
(4 REQD)

WASHER,IEX 5/16
(11 REQ'D)
NUT,HEX 5/16 -18(OREQD)
SCREW,MEX.HD,,5/16-8x
¥4 LG.(1 REQ'D)

AF AMPLIFIER AM-780/VRC

SEE [F161-22]
SEE [FIGT1-23

—~—

ELITAOR22

Figure 1-18. Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-

7778A/GRC in vehicle M578, for FM radio sets.

14



NOTE
|—— LOCATE SUPPRESSOR MOUNTING ASS'Y
SC-C-690713 AS SHOWN,AND WELD
IN PLACE ATTACH PLATE SC-C-690714
, F
TO SUPPRESSOR MOUNTING ASS'Y THEN yeicLe
ATTACH RESILIENT MOUNTS USING |

ABALAAE AaAUIRASR WITL Uw_FYPa/n00
HMHU"“HC FNUVIUEU wi e/ ONw.

SEE Fig+—22l
SAUTION: TURN OFF VEMICLE MASTER
SWLiLm.
2-——REMOVE CABLE ASS'Y SPCX-4720/VRC
(P70 RADIO SET HARNESS) FROM 24V

pOWER SECLEBTACLE AND ATTACH
VEHICLE POWER RECEPTACLE AND ATTALR

TO 90° ELBOW RECEPTACLE ON THE Mx-7778/GRC
AS SHOWN. THEN CONNECT ONE END OF CABLE

ASS'Y 8.2 CxX-i08!13/G TC POWER RECEPTACLE ON
nRI9 7 -A

THE SIDE OF MX-7778/GRC,CONNECT OTHER END

FRONT

TR mMAST

TO 24VDC VEMICLE POWER RECEPTACLE AS SHOWN.

3——CLAMP CABLE ASSEMBLY
OR MOLES.
4——|F TRANSIENT SUPPRESSOR MX-7778(A)/GRC

1S SUPPLIED IN LIEU OF MX-7778/GRC
REFER TO Fro——23l

Iaim amAmems

TO EXiSTING SPACERS

CABLE ASSEMBLY—/ , f
SP Cx-4720/VRC j i~

\M

~AMPLIFIER,AUDIO FREQ.

TRANSIENT SUPPRESSOR
\MX-’/??B/GRC OR MX-777&A)GRC
AM/1780/VRC

PLAN VIEW

« g c CABLE ASS'Y
CN L YR /\< _/S.P.CX-108613/G

| AU
| - S A
!__:aT-lozs/vn_o.:_]r'-rL—mL__<_ ~ i

‘ / | ! -

—i2 =

(SEE NOTE 283) [ yagugR,1E.T 5/16-i8(1 REGD) =~

NUT, HEX.,5/%6~18(9 REQD)
SCREW,HEX MD.,5/16-i8 x

R4 1~ 1) BEA'TY
PR L\ N V)

TRANSIENT SUPPRESSOR FCLAMP $TRAP(SEE NOTE 3)
MX-7778/GRC OR \

Lav _PITPAIANMmAA
MA=( QM jronNy

T-1029/VRC

A
24 VDC

oAweED e IT
FUWER W wi

~CIRCUIT BREAKER
\— RESET
MOUNT, RESILIENT(4 REQD

ARA A L EAM

~-GROUND LEAD
—PLATE.SC‘C -690714(SEE NOTE 1)
- SUPPRESSOR MOUNTING ASS'Y

SC C-630T13(SEE NOTE 1)
P Cx-4720/VRC(SEE NOTE 24 3)

F11TAQ23

Figure 1-19. Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in Amplifier Vehiclse, Launcher, Bridge in (AVLB) VEH. M48A2 (HULL). jor FM radio sets.



GAUTION TURN OFF ENGINE AND VEHICLE MASTER SWITCH

NOTES

I=———USING THE TWO EXISTING MOUNTING HOLES ON
RADIO SHELF AS A REFERENCE POINT, LOCATE ANO
ORILL TwWO ADDITIONAL 117327 DIA HOLES,AS SHOWN,
FOR MOUNTING TRANSIENT SUPPRESSOR MX-77?78/GRC
IF TRANSIENT SUPPRESSOR MX-7778(A)/GRC 1S
SUPPLIED IN LIEU OF THE MX-7778/GRC,CENTER THE
MX-7778{A)/GRC ON THE RADIO SHELF IN THE AREA

PREVIOUSLY ALLOCATED FOR THE MX-7778/GRCSEEFGT23"

USING THE MX-7778(A)/GRC AS A TEMPLATE, LOCATE
AND DRILL FOUR(4) 9/32 " DIA. MOUNTING HOLES.
2—— INSTALL RESILIENT MOUNTS ON THE MX-7778/GRC

OR Mx-7778(A)/GRC AND MOUNT UNIT TO RADIO SHELF

USING PROVIDED HARDWARE. TO GROUND THE
MX-7778/GRC ‘LOCATE AND DRILL A 11/3Z HOLE
ON THE RADIO SHELF,AS SMOWN,AND SECURE WITH

PROVIOED HAROWARE. TO GROUND THE MX-7778(AVGRC,

LOCATE 8 DRILL A 9/32°HOLE ON RADIO SHELF
AND SECURE GROUND STRAP WITH PROVIDED
HARDWARE.

3——REMOVE CABLE ASSEMELY S.P. CX-4720/VRC
{P/0 RADIO SET HARNESS) FROM 24V VEHICLE
POWER RECEPTACLE & ATTACH PLUG TO 90°
ELBOW RECEPTACLE ON THE MX-?778/GRC
OR MX-7778(A)/GRC,AS SHOWN. THEN CONNECT

Ao e e - an A Ao

ONE END OF CABLE S P CX-iD813/6 TO POWER
RECEPTACLE ON THE SIDE OF MX-7778/GRC OR
MX -7778(A)/GRC. CONNECT OTHER END TO 24V
VEHICLE POWER RECEPTACLE ,AS SHOWN.

4—=CLAMP CABLE ASSEMBLIES INTO POSITION USING
EXISTING SPACERS OR MOLES.

Pizure P ool ntr ocaoato_o £

r an
48V

'(

B a o AL ____ . L= #3530
ARSUEIERINUR IRFITUCIONRS [OI LSCITICGE [ TGNRIWNRT D“P

— SHELF

-24V0C POWER INPUT
—AMPLIFIER.AUDIO FREQ AM-1780/VRC

—CABLE ASS'Y SPCX-10613/G(SEE NOTE 384)
\ - SUPPRESSOR TRANSIENT Mx-7778/GRC QR

—
. ﬂ § \

MX-777AVGRC

r-CABLE ASS'Y SP CXx-4720/VRC
(SEE NOTE 384)

1L 2 HOLES
ORILL 2 HOLES

i3
"/ A X-777
3250 o g o

CIRCUIT BREAKER RESET
MOUNT, RESILIENT, 4 REQ'D

\ \-2 EXISTING HOLES IN SHELF
I

GROUND LEAD, A 11/32 DIA MOLE
MUST BE DRILLED IN SHELF
FOR MX-777R/GRC

.

\-WASHER,I.E.T,,S/S(II REQD)
NUT, HEX,5/16-18( 9 REQ'D)
SCREW,HEX. HD.,5/16-18x 3/4 LG (| REQD)

T-1029/VRC
SEE

Fie—+23
ELITAO24

L2 mmma 1B,y

MA-/7/8/Uune, or

sees o

7778A/GRC in Combat Engineering Vehicle M738, for mdao sets.



CAUTION TURN OFF ENGINE 8 VEMICLE MASTER SWITCH

NOTES

i——— CENTER SUPPRESSOR PLATE FOR TRANSIENT
SUPPRESSOR MX-TT78/GRC OR MX-TTT8A/GRC
ON UNDERSIDE OF RADIO SHELF AND WELD INTO
PLACE AS SHOWN DETAIL "B"

”
STRAP ON MOUNTING PLATE WiTH PROVIDED
HARDWARE SEE DETAIL"C
INSTALL TRANSIENT SUPPRESSOR MX-7778/GRC
OR MX-777BA/GRC ON RESILIENT MOUNTS USING

PROVIDED HARDWARE SEE DETAIL"C" FRONT OF

-WHITE
_COKING DOWN ON TOP OF SHELF ~RED O_ETA'_L_A

N-PLATE SC-C-691829
93 WELD TO BOTTOM OF
o snELr

INSTALL GROUND STRAP ON THE TRANSIENT “JrniciE — DETAIL B I.ET WASHERS
SUPPRESSOR WITH PROVIDED HARDWARE AESILIENT NOUNT
L] Cl
SEE DETAIL "C. (4 EACH) DETAILC
GROUND LEAD . Tr
RCUIT BRE 7
';,ESET ON THi ' GROUND STRAP

3—— REMOVE CABLE ASS'Y S.P CX-4720/VRC .

(PO RADIO SET HARNESS)FROM 24V SEE DETAIL W 1. E.T. WASHERS

VEH. BATTERIES. OISCONNECT PLUG & -

ACCESSORY ASSY FROM CABLE ASS'Y CABLE ASS'Y N e o ESSOR

SP CX-10613/G AND SET ASIDE. SOLDER S Cx4720/vRC

TWO(2)NO.3i6 SHERMAN LUGS ONE TO

TO THE TWISTED BRAID NEGATIVE CONDUCTOR
AND THEN ATTACH THE TWO(2)SMERMAN LUGS
TO BATTERY,AS SHOWN.

4 FT(SEE NOTE 3)
K
THE BLACK POSITIVE CONOUCTOR, THE OTHER Bc‘bﬁ%ug?&?

MX-7778A/GRC

RT-524
MT~1029/VRC

CABLE ASS'Y S.P CX-10813/G

4 PLACE PLUG & ACCESSORY ASS'Y MENTIONED 4 FT ISEE NOTE 3)
ABOVE ON CABLE ASSY SPCX-4720/RC. .. ~(_ T TWISTED BRAIO.NEG. CONDUCTOR
CONNECT RED 8 WHITE CONDUCTORS TO ~. . NO.316 SHERMAN LUG(2 REQ'D)
PIN A,GREEN & BLACK CONDUCTORS TO p of ~L
PIN B OF PLUG,SEE DETAIL *A" NEXT a0t E e CABLE CLAMP(SEE NOTE 5 )
ATTACH PLUG & ACCESSORY ASSY TO f ‘a BATTERY BOX
90° DEGREE ELBOW LOCATED ON SIDE OF VEHICLE SPONSON
MX-7778/GRC,AS SHOWN, MX-7778A/GRC SEE Fi6t-23] =73
s CLAMP CABLE ASSEMBLIES TO POSITION USING SEE

EXISTING SPACERS OR HOLES.

SEE EIG =23 ELITAO2S

Figure 1-21. Installation instructions for Electrical Transient Suppressor MX-7778/GRC, or MX-
7778A/GRC in vehicle M163, for FM radio sets.

24



MOUNT, RESILIENT
P70 SUPPRESSOR

Pigure 1-22. Exploded parts view of installation kit components for MX-7778/GRC.

NOMENCLATURE QTY!| REMARKS
PLATE | |sc-C-690714
SUPPRESSOR MOUNTING ASSY | .

(FOR STEEL VEHICLE) |~ |SC-c-6%0713
SUPPRESSOR MOUNTING ASSY
(FOR ALUMINUM VEHICLE) | ' |SC-C-6%0712
SCREW, HEX HD, +-20 X $LG| 6 |Ms90725-5 TI
WASHER, LOCK, & 1E.T. 6 | MS45904-68 1
ELLiTAO26



ITEM . NOMENCLATURE QTY | REMARKS
T
| SUPPRESSOR MX-TTTAAIARC | i
SUPPRESSOR NOUNTING ASSY
| .C-
m /‘j @ ! (FOR STEEL VEMICLE) -c-8%013
SUPPRESSOR MOUNTING ASS'Y
P/O SUPPRESSOR 3 (FOR ‘mﬂuu,, oy o) SC-C-8%0712
i 4 SCREW,HEX WD.,14-20X5/8 (6| !
GROUND LEAD/ | 5 WASHER, LOCK, 174 1E.T. 2
~_(FURNISHED WiTH \
suppasssom‘ . CeBFE WEY uh £.13 vimie | 1
L) QUKL W, T ARU,8°3C l)/Uth i |
1
1 WASHER.LOCK . 6-32 2 i
4
SUPPRESSOR
2/0
SUPPRESSOR” \ﬂ
VEHICLE MOUNTlNG/ i imaa
SURFACE ELITAO27
DPlaeme 7 .00 DEewmleaded mceda cmam ol fmatellasdam Lhls amri s e s e AEV YO A 1D
l‘l, ATED. & FM Vo g ] , STD VSN MUTS RIS WW“ ,U" MMAAT 1IN UG



By Order of the Secretary of the Army:

FRED C. WEYAND
General, United States  Army
Official: Chief of Staff
PAUL T. SMITH
Major General United States Army
The Adjutant General

DISTRIBUTION:
To bedigtributed in accordance with DA Form 12-51, TB requirements for M X.
7778/GRC.

7 U.S. GOVERNMENT PRINTING OFFICE : 1987 O—181-421 (61080



PIN : 031911-000



	TABLE OF CONTENTS
	PARAGRAPHS

	PARA 1
	PARA 2
	PARA 3
	PARA 4

	FIGURES

	FIGURE 1-1
	FIGURE 1-2
	FIGURE 1-3
	FIGURE 1-4
	FIGURE 1-5
	FIGURE 1-6
	FIGURE 1-7
	FIGURE 1-8
	FIGURE 1-9
	FIGURE 1-10
	FIGURE 1-11
	FIGURE 1-12
	FIGURE 1-13
	FIGURE 1-14
	FIGURE 1-15
	FIGURE 1-16
	FIGURE 1-17
	FIGURE 1-18
	FIGURE 1-19
	FIGURE 1-20
	FIGURE 1-21
	FIGURE 1-22
	FIGURE 1-23


